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In a simple Harmonic motion, the phase at time ¢
is
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The acceleration of a particle describing a circle of
radius a has the component ———— along the
\ radius to the center.
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The transverse component of velocity is
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The pedal equation of the parabola — pole at focus
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10. The (p-r) equation of the central orbit is
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PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

11. (a) Find the range of a particle projected on an
inclined plane.

Or

(b) A revolver can fire a bullet with a velocity of
63 m per sec. Is it possible to hit the top of a
tower 400 m away its height being 30 m?

12. (a) Find the velocities of two smooth spheres
after their direct impact.

Or
(b) A ball overtakes another ball of m times its
mass, which is moving with lr.b. of its

n
velocity in the same direction. If the impact
reduces the first ball to rest, prove that the
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